Geometry Problems
Area and Perimeter of Simple 2D Shapes

Name:

Squares and Rectangles g b.::: -
Math Worksheet 4 GEOMETRY
PROBLEMS

Answer the following. Show your solutions.

A =Area
P = Perimeter
S = side

A
P

Sx$S
4xS

SQUARE

Find the missing side length and area of a
rectangle whose perimeter is 267 m and

width of 43 m.
P=2(a+b)
267 =2 (43 +b) A=lxw
267 = 86 + 2b =90.5 x 43
267 -86 =2b
181+2=Db
90.5=b
side length Perimeter

If the length of a side of a square is 59.5 mm,
determine the area and perimeter.

)

Area

)

Perimeter

Find the side length and area of a square
if the perimeter is 36 ft.

)

side length

)

Area
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RECTANGLE

A=lxw f«_=|Are:1h P = Perimeter
P=2(a+b) 'T'eng a, b = sides
w = width

Find the side length and perimeter of a
square if the given area is 324 in2.

)

length

)

Perimeter

If the perimeter of a rectangle is 92 yd and
the length is 14 yd, find the width and area.

)

width

)

Area

The length of a rectangle is 101 cm and the
width is 86 cm. Find the area and perimeter.

)

Area

)

Perimeter



Geometry Problems
Area and Perimeter of Simple 2D Shapes

Name: ANSWER KEY

Squares and Rectangles g b.::
Math Worksheet 4 GEOMETRY
PROBLEMS

Answer the following. Show your solutions.

A =Area
P = Perimeter
S = side

A
P

Sx$S
4xS

SQUARE

Find the missing side length and area of a
rectangle whose perimeter is 267 m and

width of 43 m.
P=2(a+b)
267 =2 (43 +b) A=lxw
267 = 86 + 2b =90.5 x 43
267 -86 =2b
181+2=Db
90.5=b
side length Perimeter

If the length of a side of a square is 59.5 mm,
determine the area and perimeter.

A=SxS P=4xS
= 59.5 x 59.5 =4x59.5
= 3540.25 =238

Area

Perimeter

Find the side length and area of a square
if the perimeter is 36 ft.

P=4xS A=SxS
36=4xS =9x9
36+4=S =81
9=8§

side length Area
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RECTANGLE

A=lxw f«_=|Are:1h P = Perimeter
P=2(a+b) 'T'eng a, b = sides
w = width

Find the side length and perimeter of a
square if the given area is 324 in2.

A=SxS

324 = S P=4xS
=4x18
V324=8 =72
18=S8
length Perimeter

If the perimeter of a rectangle is 92 yd and
the length is 14 yd, find the width and area.

P=2(a+h)
92=2 (14 +b)
92=28 +2b A=lxw
92-28=2b =14 x 32
64=2b = 448
64+2=b
32=b

width Area

The length of a rectangle is 101 cm and the
width is 86 cm. Find the area and perimeter.

P=2(a+b)
A=Ilxw
=2 (101 + 86)
=101 x 86 =2(187)
= 8686
=374
8686 cm”
Area Perimeter



